
tØL.

1. P11. �ê121, lim
n→∞

ηn(ω)
n

= 0.

2. P16. 1 8 1, �úª

· · ·
∫ ∞
−∞

xpX|Y (x|y)dx,

3. P29. 13�ÕÓ1��úª,

P (f(i, Un) = j) = · · · · · ·

4. P35. ~1.2.5¥��§ {
π0p00 + π1p10 = π0,

π0p01 + π1p11 = π1.

5. P37. 181, m>�u πipi,i−1 = πiλ/(λ+ 1).

�ê13 ∼ 41, íØ/âfl A ¥ ..., o6þ� πi
λ
λ+1

.0

6. P45. 1151�201, ���� S1 + T1 + ξ2 a�G� 1,

���� S1 + T1 + ξ2 + η2 a�G� 0,

XLr = · · · = XLr+ξr+1−1 = 0, XLr+ξr+1 = · · · = XLr+1−1 = 1, ∀r ≥ 0.

YLr = · · · = YLr+ηr+1−1 = 0, YLr+ηr+1 = · · · = YLr+1−1 = 1, ∀r ≥ 0.

{Yn} ´l 1 Ñu�ê¼ó.

7. P72. 171,

Pi(B|C) = P (Xm+r 6= i, 1 ≤ r ≤ n− 1;Xn+m|Xm = i)

8. P73. úª (1.5.4) 1�1,

Pi(σi =∞) > 0⇔ Pi(Vi <∞) = 1⇔ EiVi <∞.

9. P78. SK1(1). ¦� C ⊆ D.

10. P96. 111, p
(2n+1)
00 .

181, p
(2n)
00 .

11. P103. �ê151. τ := inf{n ≥ 0 : i+ j − Sn = i+ j ½ 0}

12. P109. SK9(2), ϕ(a) = eaq(pe−a + 1− p).

13. P119. ~1.8.11�þ�1. íØ/X~1.6.60.



14. P121. cü1. do = 3. πo = do/508, íØ�¡�/= 1/2540, l
 ET = 1/π0 =
508/3.

15. P124. ���1. 0 = λo ≥ λjp
(n)
jo . ùL² λj = 0

16. P127. �ê151 Tr+1 = inf{n ≥ Tr+1 : Xn = o}.

17. P128. cü1, Eη1 =
∑
j∈S
|f(j)|νj, Ù¥ νj = Ei

σi−1∑
m=0

I{Xm=j}, · · · , νj = πjEiσi.

16 1, {P� r + 1, ..., Tr ≤ n ≤ Tr+1. 1 8, 9 1,
∑
m=Tr

,

�ê121, 1
n

∣∣∑n−1
m=Tr

f(Xm)
∣∣ ≤ ηr+1

r

a.s.−→ 0.

18. P129. SK3. {Ei
∑σ−1

n=0 1{Xn=j} : j ∈ S}

19. P133. 161, Aj = {(j, k) : k ∈ S}.

20. P170. ���1, {ξn : n ≥ 0}

21. P173. íØ2.2.6. y²121, é?¿ n ≥ 1, d(o, X̂n) ≤ n. u´...

22. P174. ~2.2.9.þ�1. X
(1)
t + · · ·X(i)

t ,

23. P189. SK3. qii = −(λ+ µ).

24. P201 171. ∆Y = {(y0, · · · , yn−1) : ur < tr < ur + δr, r = 1, · · · , n},
Ö¿:

∆̃Y := {(t1, · · · , tn) : ur < tr < ur + δr, r = 1, · · · , n},
∆̃X := {(s1, · · · , sn) : T − (un+1−r + δn+1−r) < sr < T − un+1−r, r = 1, · · · , n},

�U: (T1, · · · , Tn) ∈ ∆̃Y , (S1, · · · , Sn) ∈ ∆̃X .

25. P204. �����úª�þ�1, K¡��L§���¿¿¿.

26. P205 171, τk ≤ max{ε0, · · · , εk−1}+1.

181, 3G� j Ê3�o�m.

1101, é?¿ i ∈ Z,

27. P214. ·K3.1.2 ¥� ~X, ~Xr, ~X1, ~Xn U� X, Xr, X1, Xn.

28. P217. ·K3.2.8 Qã121, /´ d ���Ý
,0

29. P222. SK3 (2) E(B3
s − 3sBs|Bt = x).

30. P223. S3.3 1 3 1, m ≥ 0,

31. P234. 171. ≤2P0(M1 > x) · · ·



32. P236. 141, 1/(π
√
s(t− s))

33. P238.

C+ := {t > 0 : Bt = 0 � ∃ δ > 0, ¦� Bs 6= 0, ∀ s ∈ (t− δ, t)}.

34. P239. íØSK3. (�·K3.4.7)

35. P241. ·�ob�

a ≤ x ≤ b, {Bt : t ≥ 0} ´l x Ñu�ÙK$Ä.

36. P246-247. �!p��/9ÙA^, ^ ~x, ~y, ~Bt.

37. P248. 1 5 ∼ 7 1.

4zF ′′(z) + 2dF ′(z) = 4zG′(z) + 2dG(z).

d ∆ϕ 3«� D S · · · · · ·

2zG′(z) + dG(z) = 0, ∀z ∈ (ε2, R2).

38. P250. 1 2 ∼ 5 1.

ψ(x) =


h(x), y ≤ x ≤ z;
x
y
h(y), 0 ≤ x ≤ y;

1−x
1−zh(z), z ≤ x ≤ 1,

Ù¥, h(x) = −x2 + ax+ b, a � b ��½~ê.

39. P251. SK4. τ := inf{t ≥ 0 : ‖ ~Bt‖ = 1}.

40. P254. 1 8 1.

b� {Bt : t ≥ 0} ´ÙK$Ä, α 6= 0.

41. P258. 1 6 ∼ 7 1.

n−1∑
i=0

fti(Bti+1
−Bti)

L2

−→ XT , ∀T ≥ 0.

d�, �òd4� XT P�
∫ T
0
ftdBt.


